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Equilibrium Constants – Meaning of  the Magnitude of  K

The equilibrium constant, Kc, for the following reaction is 1.29x10-6 at 600 K.
COCl2(g)   CO(g) + Cl2(g)

Assuming that you start with only COCl2, describe the relative abundance of  
each species present at equilibrium.

[COCl2(g)] a.  Higher b.  Lower c.  Can’t tell
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The Relationship between Kp and Kc

The equilibrium constant, Kc, for the following reaction is 2.90x10-2 at 1260 K.
Calculate Kp for this reaction at this temperature.

2 SO3(g)   2 SO2(g) + O2(g)

R = 0.0821 L.atm.mol-1.K-1

a) 1
b) 2
c) 3
d) 4
e) 3

Kp = ?.00


